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VERBAL ANALOGIES 
Find the element that completes the analogy as in the given example: 
head : hat :: foot : ? – (shoe) Where : = is to :: = as 
1. cage : animal :: prison : human
2. library : read :: church : pray
3. stadium : play :: classroom : teacher
4. touch : skin :: taste : tongue 
5. feather : eagle :: hair : cat 
6. hospital : medical doctor :: school : teacher 
7. pilot : plane ::equestrian: horse 
8. good : beginning :: bad: end
9. slow : late :: fast : early 
10. rod : fishing :: gun : hunting 
11. imam : mosque :: minister : church
12. ankle : foot :: wrist : hand 
13. spell : magician :: joke: humorist 
14. cat : feline :: dog : canine
15. paragraph : sentence :: alphabet : letter 
16. shaking hand : pact ::sign: contract 
17. bark : cark :: cap : sap
18. beamish : squeamish :: seamster : tailor
19. precipitation : water :: thunder : electricity 
20. merit : award :: demerit : punishment 
21. nostalgic : future :: hope :past
22. mumble : write :: scrawl : draw
23. inviting : party :: judging/facilitating : court 
24. pack : cap :: pirn : rip 
25. cool : freezing :: warm : broiling
26. candidate : election :: interview: employment 
27. wife : polygamy :: husband : polygyny
28. praise : glory :: dishonor/discredit : infamy 
29. nuclide : include :: electrode/expostulate : excepted 
30. jellyfish : coelenterate :: starfish : incurvate
31. tricot : pullover :: cover with : tapestry 
32. rainbow : trout :: dover/lemon : sole 

______________________________________________________________________
____________

1 

Daniel had three younger sisters, Alice, Mary and Janice. Which 
one is the oldest?

• Alice 

• Mary 

• Daniel   



• Janice 

2 

Four months have 30 days. Seven have 31 days. How many have 
28 days?

• 1   

• 12 

• 11 

• 9 

3 

What am I? For some I go fast, for others I am slow, To most 
people, I'm an obsession relying on me is a well practiced lesson. 

• A Cheetah 

• Time   

• An Ostrich 

• A car 

4 

33 Pigs are standing in a field, when suddenly a bolt of lightning 
kills all but 9 of them. How many are left?

• 33 

• 24 

• 9   

5 

Lee's parents emigrated from China. They have 5 kids. The kids' 
names are La, Le, Li, and Lo. What did they name the 5th?

• Le 

• Lu 

• Lee 



• Not enough information   

6 

You only have a match when you enter a dark and cold room. 
You come across an oil lamp, an oil heater, and a candle. Which 
do you light first?

• Candle   

• Oil lamp 

• Oil heater 

• None of the above 

7 

A doctor gives you three pills with instructions to take one every 
half hour. How many minutes would the pills last?

• 60 

• 90   

• 30 

• 120 

8 

The Smith family has a Mother, Father and 7 daughters. Each 
daughter has 1 brother. How many people are in the family?

• 27 

• 19 

• 16   

• 9 

9 

Take 1000 and add 40 to it.. Now add another 1000. Now add 30. 
Add another 1000. Now add 20. Now add another 1000 Now add 
10. What is the total? 

• 4500 



• 5000 

• 4100   

• None of the Above 

10 

A jet traveling from the United States to Mexico, carrying 200 
Mexican passengers, crashes EXACTLY on the U.S. and Mexico 
border. Where would you bury the survivors?

• Mexico 

• United States 

• Exactly on the border   

• None of the above 

______________________________________________________________________
____________

Logic Test

Answer 1.
a) All ducks quack.
b) Donald is a duck.
- Therefore: Donald quacks. 

Valid. 

Answer 2. 
a) All female logicians are clear thinkers.
b) All lawyers are clear thinkers.
- Therefore all female logicians are lawyers.

Invalid. 

Answer 3.
a) Men think only about sex.
b) A man called Gary is thinking.
- Therefore Gary is thinking about sex.

Valid. 

Answer 4.
a) Where there is poverty there is crime.
b) There is poverty in Camberwell.
- Therefore there is crime in Camberwell.



Valid.

Answer 5.
a) Where there is poverty there is crime.
b) There is crime in Camberwell.
- Therefore there must be poverty in Camberwell.

Invalid. 

Answer 6.
a) Some mammals are marsupials.
b) All kangaroos are mammals.
- Therefore all kangaroos are marsupials.

Invalid. 

Answer 7. 
a) All ducks bark.
b) Donald is a duck.
- Therefore Donald barks.

Valid 

Answer 8.
a) When I get hungry I could eat a horse.
b) I am hungry now.
- Therefore I should eat a horse.

Invalid. 

Answer 9. 
a) Blue and yellow make green.
b) Blue and red make brown.
- Therefore blue and white make sky blue.

Invalid. 

Answer 10.
a) Jenny lives in Paris.
b) Paris is in New Zealand.
- Therefore Jenny lives in New Zealand.

Valid 

Answer 11. 
a) Men are from Mars.
b) Women are from Venus.
- Therefore men and women will never understand each other.

Invalid. 



Answer 12.
a) The man was stabbed to death.
b) Mary was seen leaving the scene of the crime shortly after the time of the murder.
c) Blood found on Mary's trousers was the same as the victim's.
d) Only Mary's fingerprints were found on the murder weapon.
e) No other people were witnessed near the scene of the crime.
f) Mary's DNA was found on the victim's body.
g) The CCTV evidence showed only Mary entering and leaving the victim's flat.

Invalid. 

Answer 13.
a) Only language users employ generalisations. 
b) Not a single animal uses language.
c) At least some animals reason.

Invalid. 

Answer 14.

The results from a logic test taken by 500 women and 500 men showed that:

a) Some women are more logical than some men.
b) Some men are more logical than some women.
c) The top ten performers were all women.
d) The bottom ten performers were all men.

Invalid. 

Answer 15. 
a) Water is a molecule composed of two hydrogen atoms and one oxygen atom.
b) Every observation or examination by microscope has confirmed this.

Conclusion
Therefore we can predict that every future examination of water will reveal the same 
chemical composition.

Invalid. 

______________________________________________________________________
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Cultural Test:
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___________________________

IQ Diploma Website Score: 145/145 IQ: 185-204

Cerebrals: JCCES SOON TO BE TAKEN

Cerebrals IAW Score: 100%, Lowest 75

How Many Hexomenoes Does This Puzzle Have? 



Answer:16

Yes



_______________________________________________________________________________________________________________________________________________
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These are paralell



http://ireport.cnn.com/docs/DOC-879453

http://ireport.cnn.com/docs/DOC-879453


A

B



1in2

You cut the donut on the side once then you cut it in half so after your 



first two cuts you have 4 peices, so for your third cut: you will then cut it in 

half and will have eight peices!!!! Solved

___________________________________________

Catell Estimation:

IQ222(SD15) = IQ230(SD16) = IQ295(SD24)

Basically my IQ is Ïƒ8.13 on the normal distribution, so 8.13*24+100 = 

295.12. (In the catell scale)

__________________________________________

8/8 on the brainman quiz

_______________________________________________________

Intelligence test part 1:



_________________________________

Froms of Autism: Aspergers and Savant syndrome

____________________________________




